=
N = 0 &8 AFH Y & A AN
20198 T =& 2 5 Uutg|H T AlD
SN A
M C AN
Sl TAHEA LAY (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
S A 20,018,720 19,973,444 45,276
[ 50,000 0 50,000
= 150,261 0 150,261
2 19,818,459 19,973,444 A 154,985
S AN 19,464,888 19,539,612 ATA, 724
= 50,000 0 50,000
= 150,261 0 150,261
2 19,264,627 19,539,612 A 274,985
SAHE A A ALY 18,503,328 18,497,052 6,276
(= 50,000 0 50,000
= 150,261 0 150,261
2 18,303,067 18,497,052 A 193,985
CAHECZ X2 1,927,524 1,727,524 200,000
401 AlEHIZ 20l 1,895,004 1,695,004 200,000
01 Al&HI 1,890,000 1,690,000 200,000
OZAHETZ SX 2l
Z= 900,000,000 900,000 700,000 200,000
CAHEEZ HA 8,936,188 8,821,188 115,000
401 Al 2 HIZ 20H| 8,936,188 8,821,188 115,000
01 Al&H| 8,920,000 8,805,000 115,000
0S4 ZAHECZ(AZ21-27)(SHEEA
) 23 20,000,000 20,000 150,000 A 130,000
O0S488 ZANHECZZ(A22-90) (222 )
2= 500,000,000 500,000 200,000 300,000
OS4HE ZANHEECR2(AR3-2)(HLE H)
2= 170,000,000 170,000 100,000 70,000
08488 ZANHEZZ(A21-50)(ELY~S
HzEstm) 2= 100,000,000 100,000 200,000 A100,000
O228 TANHEZZ(A22-58)(SHA YA~
Z MO E) 2 530,000,000 530,000 500,000 30,000
O2g38 TANHEC2(A22-34)(SSEEH=U
~=2dg) 2= 370,000,000 370,000 300,000 70,000
O228 TAHEZZ(HWR3-1)(SLeHdgR
oren Ji2tAY|) 2= 100,000,000 100,000 200,000 A 100,000
OAH TAHECZ(ES22-5)(HAMEHS
2H) 2= 800,000,000 800,000 400,000 400,000
OUAH ZAHECR2(A22-60)(HASE D
23) 23X 260,000,000 260,000 330,000 270,000
OUAH ZAHECR2(AR22-872A)(LEH )
2= 150,000,000 150,000 450,000 300,000
OAHE ZAHECZ2(AZ2-71) (=20 E
o) 2= 300,000,000 300,000 400,000 A 100,000
OAH ZTAHECZ(AZ2-55)(HAsE &)
20,000,000 20,000 0 20,000
OM=0 ZAHEC2(AZ22-25)(M22310tS
o) Z= 80,000,000 80,000 135,000 255,000
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CHelT CAIHE AL A (el @2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OZ=d CANEEE (22 127) (St 0rs0f
mE ) 80,000, 0002 80,000 0 80,000
OLZY CAHET2(422-23) (2260
) & 70,000,000% 70,000 270,000 200,000
OLZY SAHNLTZ(£22-24)(F2AHE )
23 400,000, 0002 400,000 200,000 200,000
SANEANE DIZBNLLS 540,000 230,000 310,000
401 AIEHIL 2 THHI 510,000 200,000 310,000
01 Al bl 510,000 200,000 310,000
OSANHEANL Q28X EXNSLS
23 510,000,0002 510,000 200,000 310,000
TAHEC 2 A 22 13,250 12,000 1,250
202 01t 6,250 5,000 1,250
01 2Lhot8l 6,250 5,000 1,250
OSAANE 22T ol ZF 6,250,0008 6,250 5,000 1,250
32 294 22z 34 2,090,000 2,000,000 90,000
401 AIEHIL 2 THHI 2,090,000 2,000,000 90,000
01 Al bl 2,082,800 1,992,800 90,000
O2% 8o JURH ZTEAMY ZEILI =
(B) D2 L MASHSY  50,000,0008 50,000 0 50,000
O2% 8o 2UZY ZTEMY HBBAYY
I8 o 40,000,000 40,000 0 40,000
REHOIS 2SS A (KA 170,000 250,000 80,000
401 AIEHIL 2 THBI 170,000 250,000 80,000
01 Al Hl 170,000 250,000 280,000
Ogdzl HEATRME  FF 170,000,0008 170,000 250,000 80,000
D4 2012 2eze 24 324 700,000 699,676
401 AIEHIL 2T HI 324 700,000 699,676
01 Al bl 324 695,590 695,266
OUA Zoteh 2828 ZEAML(EXHLY)
23 324,000 324 695,590 695,266
03 Al & = Ch bl 0 4,410 A4,410
Ol 2oteh 2RZE THMY A& 20yl
35 08 0 4,410 A4,410
S4 QM0 UZE T4 962 300,000 £.299,038
401 AIEHIL 2 THHI 962 300,000 £.299,038
01 A& Hl 962 297,840 A 296,878
OS4 24 NROZEES 3 962,008 962 297,840 296,878
03 Al& = i bl 0 2,160 ~2,160
OS24 24 NROZAEH Al&=Hyl
33 02 0 2,160 ~2,160
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M SAONY

SR TAAHEAELAY (&)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
CAHEEZ2HE(EXR)(ANZSEEI} AUEE) 338,740 0 338,740

< 50,000 0 50,000
ES 150,261 0 160,261
a 138,479 0 138,479
401 Al HI R 201 I 338,740 0 338,740
< 50,000 0 50,000
N 150,261 0 150,261
s 138,479 0 138,479
01 A& HI 338,740 0 338,740
OA0lH ZAHEEZ(AR22-2)(20s8 F)
338,740,000& 338,740 0 338,740
=) 50,000 0 50,000
= 150,261 0 150,261
= 138,479 0 138,479
S48 €433 =4 30,000 0 30,000
401 Al IR 201 I 30,000 0 30,000
01 A& HI 30,000 0 30,000
OS4 S42Y FTHN(HE) L APES
2XE2d 30,000,000& 30,000 0 30,000
NS F=HEZMHL A 164,000 245,000 A81,000
SANE K& 164,000 245,000 A 81,000
401 AIEHI L 201 119,000 200,000 A 81,000
01 A€ HI 118,560 198,560 280,000
OMNLHLRAS IR F=HEH A
Z & 118,560,000& 118,560 198,560 280,000
03 Al S THHI 440 1,440 A 1,000
ONL A IX F=HEH ALY FR2UHI
Z & 440,000 440 1,440 A 1,000
Heas(ZAl) 520,000 400,000 120,000
WEAHAXE (= AL 520,000 400,000 120,000
ZII0IEHESANHEANEELESH HES 520,000 400,000 120,000
701 JIEtEI HESEES 520,000 400,000 120,000
01 JIEteI HE =2 520,000 400,000 120,000
OZIINIEY HAE4 Z & 520,000,000 520,000 400,000 120,000




